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. The figures in the margin indicate
.. full marks for the questions.

Answer either in English or in Assamese.
Answer the following questions :A
(@) What is supply? i
@R & o

1x8=8

(b) Mention one cause of shift in demand
curve.
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(@)

(e

(g)

Choose the correct answer :

GST is .a/an (direct/indirect)
tax. |

WA BGI0! Ay Siened ¢

GST (R Wl ____ (Io7F/AE®) 1

Mention one canon of taxation as given
by Adam Smith.

N 7 0o 99 @61 @ ) @Yy (e

'Fill in the blank :
NDP at factor cost is (Domestic

Income/National Income).
<l o1 SR =1 ¢ |
Soliwi gT® NDP (x® (Il 11/

JJT =)
What is ‘ex-ante’ savings ?

‘ex-ante’ JY F?

Write True or False :

When demand is perfectly inelastic,
elasticity of demand (eg) is zero.

wF (@ Sem Fdl ¢

feat vifEnt eI wfgfogio =, cofew
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(h) What is the main cause of
unemployment according to Keynes?

@2 WS gl TR o TR 2

2. Answer any six of the following questions :

2x6=12
w=re frat Restzn wiy ed Swa o

(a) What is opportunity cost? Give a
.suitable example.

e A {2 9Bl ST BrigRe fra |

(b) Write two key characteristics of
monopoly that distinguishes it from
perfect competition.

GO TERE 75 O E <R Sk
R < efsraierr= e o 3o g
P

(c) Define ‘primary deficit’.
‘el T g &

(d) Why is production possibility curve
(PPC) concave to the ongin 2 Explam.
e HERATE @1 (PPC) 2y efaa =@
WRREE A A
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(e} Point out two differences between

(g)

()

capital accounts and current accounts
of balance of payments.

@Wﬂrﬁmﬁﬁﬁmmsﬁ—&mm
TR 707 2N (TSl |

Define producers’ surplus.

ST Fifes szt foral |

Suppose GDP is Rs. 5,000. Domestic
residents receive factor payments from
abroad of Rs. 250. Foreigners receive
Rs. 100 as factor payment from this
country. What is the value of GNP ?

$ Te Rs. 5,000 (2 GDP | 911 ST
RO™T #[Q1 Rs. 250 WG E O [N
9% (719 #[l Rs. 100 % I | GNP I Y&
feme 292

Define multiplier.

g wE! o1 |

Mention any two reasons behind shift
in aggregate demand (AD) curve.

S GIfEwi (AD) (SR BRI fieia by

PR S 74|
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Define purchasing power parity (PPP)
with example.

| BMIRRPTR, @ G el (PPP) I wkEE frl |

Answer any four of the following questions :

oSx4=20

Tﬁmmﬁzﬂmwﬁﬁw Teq &2 3

(@)

(b)

'(9)

(d)

Distinguish -between National Income
and Domestic Income.

AR S Sl TN R A B

State and explain the central problems
of an economy.

G YIS (FH TPTFIR ol S <y
SRCERT |

Explain the characteristics of perfect
competition.

. A eferaiveiETe TwRT RERRTYR I == |

Explain direct taxes and indirect taxes
and mention two merits and two
demerits of both the taxes.

SIOTIE O AT [ Y1 ] WE FheeE R
Wil SRy S @ |
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Answer any two of the following questions :

(e) How is market demand curve derived , = ‘ 10x2=20
if two individuals have different demand oS ot A gt e Tes el 8
curves for the same product?
TR @B AT oS T ﬁw e (a) State and illustrate the law of demand
fonxeeR SIRW @R ﬁ =, (O3 G using demand schedule and demand
S @9 e siffe 27 3k 71| curve. What are the exceptions of the
. | law of demand ? 6+4=10
g . 1 .
(/) Explain average propensity to cpnsume ‘ Eﬁﬂﬁfﬁtﬁ%ﬁﬁ | mﬁmw@wsﬁm @A

(APC) and marginal propensity to

wRIT izt [ g i w1 | ifEwt Rfds @emz
& e ;

consume (MPC) with the help of a -
suitable diagram. : '
G (Si5t 279l (APC) i< &lifes colsl aerel (b)
(MPC) 4194l %5l 7@ bas 7ITS I 41 | : :

Describe Keyneé’ General Theory of
Employment and Income with the help
of a diagram.

ogoiN [Rikmel |

_ (c) Narrate the steps involved in estimaton
of national income by Expenditure
Method of national income accounting.
What are the precautions to be
undertaken in this method ? 6+4=10

AR O N I simhey [fea SFrsepgs
gfm T | 9 Res FEANW ARGTOTIZ
e

(g9 Distinguish between Elaéticity of
Taxation and Buoyancy of Taxation. . |

99 [RfegeTel oF F1 2R Ndw
@Sl |

(h) Deqix;e the formula of income elasticity
of demand. If income elasticity of
demand is negative, what does it -
signify ? | '
bifzr i Ffogirer m A w1 T
bifewia ©i f2fogi-rel Raanes 23, (org 3
& a5 2 :
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(d) State the two conditions of equilibrium

of any firm. Explain how equilibrium
price and output are determined in a
competitive market. What explains the
efficiency of market equilibrium ?.
2+7+1=10

R efsing OREIR AE SRR 5
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Illustrate Progressive, Regressive and
Proportional Taxation with diagrams.
4+3+3=10

@R RGN, @ meﬁw
T W T
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